#HEX—TK1 (A 4B

SHW4E48H
SALSATERKE EEANE) KEHAREREREE (BB
KR 9:00
KEBEBHERBRER ERRKE BKHF EK )
=] XE | KB | KEBE|EB E| oH LAY BE | %% |Eth| & EOE
E REY | 1A Ay [(AmXK
C Y E mg/l | mg/l | mg/l | mg/l | mg/l | mg/l EE)
1 = 7.0 13.2 6.8 1.74 21
2 i 8.5 12.8 12.2 7.61 22
3 58] 1.5 10.9 1.2 7.69 17
4 58] 8.0 9.8 7.1 1.73 28
5 i 14.7 10.3 32.17 7.63 47
6 = 16.0 13.5 16.8 7.63 46.7 58.5 139 5.6 0.70 0.02 35
7 i 16.5 14.9 12.2 7. 62 27
8 i 18.2 15.0 10.6 1.1 23
9 i 18.0 15.5 9.3 7.79 28
10 i 20.5 16.3 8.0 1.74 18
1 i 20.5 16.8 6.1 1.72 1
12 i 21.5 17.0 5.7 1.75 17
13 i 22.0 17.8 6.0 7.66 19
14 = 18.0 16.9 6.4 1.76 17
15 = 14.2 15.0 7.0 1.74 20
16 58] 1.1 13.7 23.6 7.63 43
17 58] 11.0 13.1 12.1 7.69 26
18 58] 13.4 12.2 6.4 7.69 1
19 = 15.2 13.2 4.3 7.81 23
20 = 17.6 14.0 14.1 7. 66 42.9 46. 6 126 5.0 0.67 0.02 26
21 = 18.0 15.2 7.4 7.69 23
22 = 19.1 15.3 1.4 1.78 107
23 i 20.0 15.3 86.3 7.64 103
24 = 20.0 15.3 24.4 1.70 40
25 i 18.0 14.8 22.2 7.65 37
26 = 21.6 15.8 9.3 1.71 29
27 = 21.5 16.5 12.6 1.71 427
28 = 19.2 15.7] 418.0 7.65 662
29 = 17.7 15.0 134.0 7.76 217
30 i 14.3 13.9 38.1 7.83 286
31

1y 16.3 14.5 32.5 1.1 44.8 52.6 133 5.3 0.69 0.02

= 22.0 17.8 | 418.0 7.83 46.7 58.5 139 5.6 0.70 0.02

xIE 7.0 9.8 4.3 7. 61 42.9 46. 6 126 5.0 0.67 0.02
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ALSATERKE (REEME) KEARGERHEE (EF)

FEKEERT 9:00

KEBHARBRKER (BER%KE Bkt GRK) )
B XE | [B | KB |&A E| pH [FILAY BE | %% |EY| &% vy | ® &
= BEW | 1 * Hy
°C °C E mg/ | mg/ | mg/ | mg/ | mg/ | mg/ |
1 = 1.0 12.8 1.3  7.47
2 i 8.5 13.5 1.5 7.46
3 [55] 1.5 1.7 1.9 7.39
4 [55] 8.0 10.8 1.3 7.43
5 i 14.7 10.5 2.2 1.34
6 £ 16.0 11.5 1.8 7.26| 37.7 54.1 115 4.5 0.08] <0.02
7 i 16.5 13.1 1.8 17.21
8 i 18.2 13.0 1.5| 7.24
9 i 18.0 14.4 1.7 7.51
10 i 20.5 14.6 1.8 7.45
11 i 20.5 15.1 1.3 7.46
12 i 21.5 16.0 2.2 7.51
13 i 22.0 16.2 2.00 7.42
14 £ 18.0 16.7 1.3 7.45
15 = 14.2 16.0 1.3 7.49
16 [55] 1.1 14.8 1.5 7.42
17 [55] 11.0 13.8 1.3  7.31
18 [55] 13.4 13.7 1.4/ 7.37
19 = 15.2 13.0 1.1 7.63
20 £ 17.6 13.5 1.6 7.30 40.1 46. 6 114 5.3 0.06| <0.02
21 = 18.0 14.0 1.6 7.56
22 £ 19.1 15.0 1.4 7.49
23 i 20.0 14.5 3.2| 1.51
24 £ 20.0 15.0 3.0 7.43
25 i 18.0 15.4 1.7 17.37
26 £ 21.6 14.8 1.4 7.42
217 =) 21.5 17.0 1.8 7.45
28 £ 19.2 16.2 2.3 1.57
29 =) 17.7 16.4 1.8 7.47
30 i 14.3 14.6 1.8 7.58
31
Ty 16.3 | 14.3 1.7 7.43| 38.9| 50.4 115 4.9 0.07| <0.02
== 22.0 | 17.0 3.2 | 171.63| 40.1 54.1 115 5.3 | 0.08 | <0.02
=IE 7.0 10.5 1.1 7.24 | 37.7| 46.6 114 4.5 0.06 | <0.02




